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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

A cube is painted vellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

(B) 8

(C) 12

(D) 16

Sonam and Sheetal leave the same office and
travel towards their homes. Sonam travels
towards north for 12 km, turns right and goes
another 5 km to reach her home. Sheetal
travels towards south for 12 km, but tums
left and goes another 15 km to reach her
home. What is the shortest distance between
their homes?

(A) 13km

(B) 17km

(C) 26km

(D) 34km
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(A) 13km

(B) 17km

(C) 26 km

(D) 34km
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Below is a statement followed by two
conclusions. Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given.

Statement:
The quality of teachers has deteriorated in
the government schools and parents prefer

to enrol their children in private schools.

Conclusion:

I) Theauthorities must take immediate
action to step up the quality of teachers
in schools.

Iy All government schools must be either

privatised or closed down completely.

(A) Onlyconclusion [ follows.
(B) Only conclusion Il follows.
(C) Either conclusion [ or Il follows.

(D) Neither conclusion | nor 1l follows.
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Choose an option that is a valid assumption
for the below statement.

Statement:

Dwue to the concerns of pollution, the Delhi
government had completely banned the use
of crackers in the last Diwali festival.

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival,

(B) Citizens love to celebrate Diwali only
with lanterns and not crackers.

(C) Children love to watch movies and play
video games instead of bursting
crackers.

(D) The bursting of crackers further

increases the smoke and hence pollution

levels in the city.

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the statement given.

Statement:
There has been an increase in the number of

burglary cases last year compared to

previous years. .

Courses of Action:

I.  The police department must step up its
vigil with more policernen on night duty.

Il. The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

{A) OnlyAction [ needs to be followed

(B) Only Action Il needs to be followed -

(C) Both Actions | and 1l need to be
followed

(D) Neither Action I nor Action I1 needs to
be followed
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Q6

Fumiture : Plywood :: Flooring : ?
(A) Walls

(B) Tiles

(C) Mattress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term,

Q7

Cricket : Umpire :: Football : 7
(A) Commander

(B) Whistie Blower

(C) Referee

(D) Arbiter B

= 4

In a certain coded language, if *“WAITER'is
written as ‘XQCCLQ' and ‘ARTIST" is
written as "‘BSTQWF', then how would the
word ‘BEGGAR' be written in that
language?

(A) COEXJD

(B) CQGYJD

(C) CSGCJ)

(D) CQFZHF

Q8

In a certain coded language, if ‘SUMMER’
15 written as ‘S2IM13E18’ and *WINTER'
i$ written as “W9N20E18’, then how would
the word “AUTUMN" be written in that
language?

(A) A2IT2INI3

(B) A20U21M14

(C) A2IT2IM14

(D) A2I1U20N13

Q9
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(A) dfed

(B) TiE™d

(C) Hnw

(D) fauw
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fFbe : sigmw = gedla : ?
(A) THisY

(B) F@fv (Whistle Blower)
(C) ¥odl

(D) snféex

vs fAftan e W ¥ I} ‘WAITER'
B ‘XQCCLQ' fawn wmanr & aitx
‘ARTIST’ ® ‘BSTQWF* foran aimen &,
o ¥ WE W # ‘BEGGAR’ & &
ferar wmem?
(A) COEXJD
(B) CQGYID
(C) CSGCJJ
(D) CQFZHF

ve e ae s ¥, af ‘SUMMER'
® ‘S2IMI3E18" forem wmem # afw
‘WINTER' &1 ‘“WIN20E18’ foran amen
g o 99 3 W # CAUTUMN' &)
a7 ferar omem?
(A) A21T2IN13
(B) A20U21M14
(C) A21T21M14
(D) A21U20N13
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Pointing at a portrait on the wall, Madan said,
“That lady was the mother of the daughter
of the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed
by four conclusions. ldentify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the
commonly known facts.

Statements:

1. Allboyscan play
2. Some girls can sing
3. Allgirls can cook
4. Noboycan sew

SO0EIB00

Conclusions:

I) Nogirl can play

i) All girls can sew

lII) Some cook are girls

1V) Boys who can play cannot sew

(A) Onlyconclusion I follows.

(B) Only conclusions 11l and IV follow.
(C) Only conclusions Il and III follow.
(D) Only conclusions  and IV follow.
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Study the below series and identify what
would come in the place of *7".

7,13,21,31,43,57, 73,2
(A) B9
B) 91
(C) 93
(D) 97

28463800

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

Rajan is shorter than Ramesh, who is taller
than George. Who is the shortest amongst
them?

(A) Ramesh is the tallest person
(B) George is shorter than Ramesh
(C) George is taller than Rajan

(D) Ramesh is taller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, B and C, are in
the ratio of 5 : 4 : 3. What is the age of the
eldest person?

(A) Aiseldertoboth BandC

(B) Theage of A is a perfect multiple of §

(C) BwasS5 yearsold when C was born

(D) Theage difference betweenAand Bis
the same as the age difference between
BandC

Q12

QI3

Q14

Fr=fofa e ®1 o sle sa &3
e (7) & e 9 @ @ e
3T |

7,13,21,31,43,57,73,?
(A) 89
B) 91
(C) 93
(D) 97

Fefaftea we o1 oar 23 @ fow Re
i Ry Wy o @ 5w aiw A sfle
WY | FargEa Y

PELH
oA, T | Ber # sl oy, it @
ol 8| 999 9 wa9 ver #1927

(A) THE Ha9 war §

(B) wifsl, v & wier &
(C) itat, Tro & war #
(D) W9, T | war &

Fr=fafea v o oar 3 @ foe Rst
7 Ry ¢ yu & 5 oiw & afRew
w9 | g e

U¥1:

i sl A, BalRCa oy 5:4:39
AT i & | waifow sy ae afd @
g fert )

(A) Baflw CeWf 9 Awer

(B) A1 3y 5 &1 quf o &

(C) W& C &1 W+ &1 1, 7 B & oIy
saq

(D) A3R B# 3y % fwrn 3w &, B
3R C & Iy A A g ) aew B

SERIES-E-B



Q15

Ql6

Q17

Q18

LM-E

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

All the students in a class passed the exam
and each one got a unique rank. Sushma
secured 7th rank and has 4 boys ahead of
her and 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) The number of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoes

(C) Tsumami

(D) Global warming

Find the missing term in the following series.
B, 24,48 80, 7,168

(A) 148

(B) 112

(€) 134
(D) 120
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Frafaftr % 9 srima @1 9a9 Aiforg |
(A) USB
(B) PCU
(C) DAD
(D) RTO
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(A) 148

®) 112

(C) 134
(D) 120
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Study the following pie chart showing
expenditure distribution of a certain family
and answer the question that follows.

If the expenditure budget of the family is
¥ 18,000 per month, then the monthly
expenses on entertainment, clothing and
transport combined will be.

(A) T 1,800

(B) ¥3,200

(C) 5,400

(D) T2,800

Nikhil, who is Raman's son, says to Esha,
“Your mother, Ria, is the younger sister of
my father, who is the second child of Suresh.”

How is Suresh related to Esha?

(A) Father

(B) Uncle

(C) Brother
(D) Grandfather

JEGGR LT
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(D) T 2,800
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Giiven below are three statements followed
by two conclusions. Identify which
conclusion(s) definitely follow(s) from the
given statements disregarding the commonly
known facts,

Statements:

I.  Allcomputers are laptops.

IL.  Alllaptops are smartphones.
Ill. Some smartphones are tablets.

Conclusions:
. Some tablets are computers.
II. Somesmartphones are computers.

(A) Only conclusion | follows.

(B) Only conclusion II follows,

(C) Both conclusions Land 11 follow.
(D) WNeither conclusion | nor [ follows.
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Q22 Which option follows figure C in the same 22
way as figure B follows figure A?
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(23 Find the odd one out of the below list of Q23
colours.

Orange, Violet, Brown, Red, Green, Indigo,

Yellow

(A) Orange
(B) Brown
(C) Green
(D) Indigo
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Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

(A) Mean
(B) Variance
(C) Mode

(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the
information in the stalements.

1. Some boys can sing
2.  Some boys can dance
3. Some boys can sing and dance

Sing Dance

(A)
Boys

Sing

gy

(B

S

(€)

(D)

Dance

ZB000532
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SECTION-2| GENERAL KNOWLEDGE | 50 QUESTIONS

The famous Bankey Bihari Temple is located
in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafts?

(A) Banglemaking

(B) Perfumesand Scents

(C) Wood carving

(D) Carpetmaking

Fat. Lt

I

Q26 ufhsg =i fawrd wiftw gaw vy & by

vEY H flem 87
(A) |
(B) o)

(C) gemA
(D) v

FeifofEa 4 9§ @9 W onw wdn @
Ty gy #?

(A) et T2l (Red Panda)

(B) awEfm (Swamp Deer)

(C) wreirg Gt 7% (Indian Bison)
(D) SiTell ¥ (Water Buffalo)
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(D) BIEAT FT
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In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARI)?

(A) Agra

(B) Bareilly

(C) Lucknow

(D) Kanpur

The state of Awadh (also called Oudh) was
ruled by Muslim rulers from 1722 to 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sulan

(B) Badshah

(C) Nawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

LM-E
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The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, isabout 15 km from which of these cities?
(A) Bengalury

(B) Mangaluru

(C) Mysuru

(D) Belgaum

Which of these organisations was founded
by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

(B) Bharatiya Vidya Bhavan

(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word ‘holocaust” with which of these
countries?

(A) Germany

(B) Egypt

(C) China

(D) Mexico
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Q35 During the Mughal administration, what was

the exact role of a *Kotwal"?
(A) Leading the army for battle
(B) Maintaining the treasury
(C) Collecting revenue

(D) Maintaining law and order

| Q36 The Child Marriage Restraint Act, 1929, is
popularly known by which other name?
(A) SardaAct

(B) Vijayalakshmi Pundit Act

(C) NaiduAct

(D) Nanavati Act

Q37 In which city did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757

(A) Bombay (now Mumbai)

(B) Ahmedabad

l (©) Pune

(D) Caleutta (now Kolkata)
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Q38

Q39

Q40

Megasthenes, the author of the famed
treatise about India called Indica, originally
belonged to which country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey

In which town of Uttar Pradesh would you
find the 14® century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country isa measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near:

(A) London

(B) Amsterdam

(C) Chicago

(D) New York
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Q41

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

Hero Cycles is one of the largest cycle
manufacturers in the world. In which city did
they first set up shop way back in 19567
(A) Ludhiana, Punjab

(B) Chennai, Tamil Nadu

(C) Sonipat, Haryana

(D) Kolkata, West Bengal

In which city of the world would you find the
Trafalgar Square?

(A) Beijing

(B) London

(C) New York

(D) Paris

LM-E
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Q44

Q45

Q46

LM-E

The *Writer's Building' is the secretariat
building of which state government of India?
(A) Telangana Govemment

(B) Karnataka Government

(C) West Bengal Government

(D) Gujarat Government

The city of Vijayawada in Andhra Pradesh is
located on the banks of which river?

(A) Cauvery

(B) Godavari

(C) Mahanadi

(D) Krishna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent
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Q48

Q49

the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize

(C) Wolf Prize

(D) Chern Medal

What is the official term of the office of a
Governor of a state in India?

(A) 3 years

(B) 4 years

(C) 5years

(D) 6years

What is the colour of the Ashoka Chakra in

the Indian tricolour (Tiranga) flag?
(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black

29238583
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Q50 Which fruit was adopted in 1950 as the

Q51

Q52

LM-E

‘national fruit’ of India?
(A) Apple
(B) Mango
(C) Grapes
(D) Banana

India’s Accord Group and Oman's Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) KhurjaDolls

é
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Q54

Q355

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the
entity.

(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(D) Reliance Home Finance

Name the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April
2019.

(A) Iran

(B) Afighanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 2019?

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Karnataka
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Who is the Director of Tata Institute of
Fundamental Research (TIFR), a premier
research institute of India located in Mumbai,
as of March 20197

(A) KN Vvas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) Sandip P Trivedi

The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi.
How is it referred to as in Maharashtra?
(A) Lawni

(B) Baisakhi

(C) GudiPadwa

(D) BhauBeej

Pandit Madan Mohan Malviya’s grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which famous

university/institution?

(A) Sharda University

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj
University
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Q59 The Guru Angad Dev Veterinary and Animal

Q61

LM-E

Sciences University is located in which city
of Punjah?

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

The form of farming in which nearly all of
the crops or livestock raised are used to
sustain the farmer and his family is
traditionally known by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) Quota Farming

(D) Institutional Farming

Which of these is NOT an edible plantation
crop?

(A) Cocoa

(B) Arecanut

(C) Rubber

(D) Tea

29158543

25

Q59

Q60

Q61

% 3 29 uy fafec s vy Rsm
Reafigaem dom & fsg wey 3 fem
2?

(A) ufearer

(B) gfamT

(C) IR
(D) =@eEhTa

=il @1 a8 w9 R fear s fram
& Ran & fFafe & fov erm
el I Ol & AT e fy o
g, 9% urai® W ¥ e 9w 9 e
I &7

() shfawr i

(B) fafmferer ah

(C) e W

(D) wRymTe Wil

foriferRaa % & @ w1 v@ @gg door
HHA el 87

(A) @rw!

(B) gurd

C) ™

(D) =g

SERIES-E-B




Q62

Q63

Q64
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In the computer terminology, what is the full
form of PDF?

(A) Printable Document Format

(B) Print Dispatched File

(C) Protocol Disk File

(D) Portable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikamika Ghat and Harishchandra Ghat?
(A) Kanpur

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

The famous Iron Pillar of Delhi, which has
withstood centuries of exposure to nature
without any rusting, is housed within which
of these historic complexes?

(A) Jama Masjid Complex

(B) Red Fort Complex

(C) Qutb Minar Complex

(D) Humayun’s Tomb Complex

20438543

26

Q62

Q63

Q64

HUER E@ell ¥, PDF &1 goi w9 @
&7

(A) fiRtaw S wite

(B) fife fewtes wega

(C) Werdla fEeh wigel

(D) wicaa Stagiie Biife

SR ysy & fHFe gsy § anus)
fPreiferRas word gre Met: sl T,
At ae aiv Ry we?

(A) R

(B) awmor!

(C) WATRTA

(D) TSGR

faeell @1 witg oiie ww o wfedl 9
fam s @ @er &, 9% fefafaa 4 9
frm tfeefhe ofter 3 Rem 87

(A) W Aftere afiew

. (B) o foem oftey

(C) od AR e
(D) &ARL & Aaay @1 uREy

SERIES-E-B




Q65

Q66

Q67
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The Ukai Dam is in which state of India? It
is the second largest dam of that state.

(A) Gujarat

(B) Telangana

(C) Odisha

(D) Maharashtra

‘Bahujana-hitiya bahujana-sukhéya’ is the
Sanskrit-based motto of which of these
national institutions?

(A) Doordarshan

(B) Banaras Hindu University

(C) Alllndia Radio
(D) Indian Meteorological Department

For helping farmers discovera better pricing
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffee Blockchain

(B) Coffee Cloud

(C) Coffee Connect

(D) Coffee Choupal

29676543
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()68 Name the state that has launched a

Q69

Q70

commission called PRANAM Commission
to specifically look into the responsibility of
elderly parents of government employees.
(A) Assam

(B) Odisha

(C) TamilNadu

(D) Rajasthan

Where is the head office of the Tea Board of
India?

(A) Darjeeling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open a new Excel workbook, how
many worksheets is/are present by default at
the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven

LM-E

29318543
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Q72

Q73
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Photoshop is a software program that is
extensively used for image editing, graphic
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh
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Which among these districts of Uttar Pradesh
is completely surrounded by other districts
of Uttar Pradesh (i.e., does NOT share a
boundary with any other adjacent state or
country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj (Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

EFCREGET
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Q78
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SECTION-3| GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

Who among the following are at higher risk
for anaemia?

(A) Old persons

(B) Children

(C) Pregnant women
(D) Animals

Which of the following animals can spread
rabies?

(A) Lizard

(B) Squirrel

(C) Pigeon

(D) Dog

Which of the following are an example of
surface water resource?

(A) Lakes

(B) Wells

(C) Oceans

(D) Tankers

Which of these is an inner planet or a
terrestrial planet in our solar system?

(A) Satumn

(B) Jupiter

(C) Mars

(D) Uranus

Fuse protects an electric circuit from:

(A) overloading

(B) converting one form of energy into
other

(C) carrying current

(D) inducing current
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Q8|

Which instrument is used to detect the

_ presence of current in a circuit?

Q82

Q83

Q84

Q85

LM-E

(A) Ammeter
(B) Voltmeter
(C) Rheostat
(D) Galvanometer

The three basic units of an electronic

communication system are:

(A) transmitter, transmission channel and
receiver

(B) modulator, demodulator and repeater

(C) transmitter, noise and information

(D) transmitter, signal and modulator

The lowest temperature at which a substance
catches fire is called its:

(A) melting temperature

(B) ignition temperature

(C) boiling temperature

(D) freezing tlemperature

Chemicals are added to food for:
(A) degradation

(B) decomposition

(C) preservation

(D) recycling

Which of the following statements is TRUE

about synthetic detergents?

(A) They work with both soft and hard
water.

(B) They do not work with hard water.

(C) Theywork only with hard water.

(D) They only work with soft water.
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Use of chemicals for therapeutic effect is
called:

(A) chemistry

(B) chemotherapy

(C) physiotherapy

(D) chromatography

Which of the following diseases is caused
by the deficiency of vitamin D?

(A) Rickets

(B) Scurvy

(C) Night blindness

(D) Pellagra

What is the percentage of fat and sugar
recommended in the diet of a growing child?
(A) 7%

(B) 25%

(C) 15%

(D) 30%

Based on the United States Department of
Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 to 2,200 calories

(B) 1,000 to 2,000 calories

(C) 1,000 10 1,400 calories

(D) 1,600 1t0 2,400 calories

Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminBI2

(B) Vitamin A

(C) VitaminC

(D) Vitamin K

2BAZOLIZ
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Q89

fafscia wme & faw AT & sgam
v & Frefafes 4 9 0 am 4 o
I 87

(A) voma= fasm

(B) @R

(C) Tofomaerd

(D) ST

fefis D& &% @ sror Frsfafe §
A | A7 wer 87

(A) Raew

(B) vadl

(C) vl

(D) Yarm

TG0 T & forg smer # aw aiv PR @
ferr witrere arqeifea famar e &2
(A) 7%

(B) 25%

(C) 15%

(D) 30%

wygae o amReE & $f e (USDA)
& femfrdel & smaR w 307 § afs
¥ I 91 WEE 7oul 3N AfkERl @
Tam & dE &1 TEw feeem B
aifge?

(A) 1,600 % 2,200 B

(B) 1,000 % 2,000 Pard

(C) 1,000 ¥ 1,400 D

(D) 1,600 ¥ 2,400 DA

FgNERIIAAFAET (Hypocobalaminaemia)
Frafafaa 4 @ faa et @& & @
Hv Bren 87 ‘
(A) RefEBI2

B) fefFma

(C) = cC

(D) =R K
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Q92

Q93

Q94

Q95

LM-E

Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets

(B) Beribeni

(C) Nightblindness

(D) Pellagra

Which of the following allergens causes hay
fever?

(A) Seafood

(B) Penicillin

(C) Pollen

(D) Nuts

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullaoblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

(A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chlorine

(D) Nitrogen

Q91

Q92

94

TABEEE

4]

™

34

faerfm B3 (Frarfas) & &6 <
Fr=fafRaa & |4 8 w1 97 @ &7
(A) Raew

(B) =7

(C) v

(D) e

fraferfeae # 9 v wegols (verel) &
HIROT WROTH SO¥ Bl 87

(A) ¥ W

(B) ufAfafe=

(C) T

(D) @A, FIET (Nuts) senf2

frefoifRea & 9 ®19 W gea & as@q
3R vauq & Pl awn 87

(A) fgen affame

(B) #H¥y]

(C) %% ifaa

(D) digy

fFr=faftaa i 9 @w @ affe a3
el weEeTd ol diors g 87
(A) =

(B) Wi

(C) wdaw

(D) aRaem

SRl ® aRA @ foy Raffn ga #
el W arent Av-are @ w87

(A) aifairar

(B) AmrE

(C) ==

(D) s
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Q96

Q97

Q98

Solve the following.
10-[S-(5+10)}+5
(=5+10)-(5-10)+5 °
(A) 1

B) 2

(C) 5

(D) 10

Solve the following.
0.009

5

(A) |

(B) 1.1

(C) 0.1

(D) 0.01

The sum of three consecutive odd numbers
is 36 more than the first of these numbers.
What is the middle number?

(A) 15

(B 17

(©) 19

(D) 21

The average of ten numbers is 6. If each
number is multiplied by 12, then the average
of the new set of numbers will be:

(A) 20

(B) 28

(C) 36

D) 72

144 144

Q100 If = ==—— then the value of x is:

LM-E

0.144 x
(A) 0.0144
(B) 0.144
(C) 1.44
(D) 14.4

SO T

Q96

097

Q98

Q99

Fefefan & ga &9
10-[5-(5+10)]+5
(=5+10)=(5-10)=5 °
(A) 1

(B) 2

(C) 5

(D) 10

F=foftaa & ga1 a¥ )
0.009

ot ool R

09
(A) 1
B 1.1
() 0.1
(D) 0.01

warre @ R TRl & o, g4
el § ¥ usedl e @ geren § 36
aftrs & e wem @ 87

(A) 15

B) 17

(C) 19

(D) 21

o "WeaEl o 3tea 6 81 It waw
Hem # 129 on e a & o
HErRil & ¢ W o e a9 wm?
(A) 20
(B) 28
(C) 36
D) 72

144 144

Q100 af2 o ¥ B, a1 x & "9A &

0.144
grm?
(A) 0.0144
(B) 0.144
(C) 1.44
D) 144
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Q101 The salanies of Arjun, Vikram and Vijay are

intheratio2 : 3 : 5. Ifincrements of 15%,
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
oftheir salaries?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Express the following as a decimal,
0.001%

(A) 1

(B) 0.001

(C) 0.0001

(D) 0.00001

Q103 A and B together can complete a piece of

work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days

(B) 13days

(C) 14days

(D) 15days

Q104 Monish can cover a certain distance in | hour

24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km

Pl R

Q101 3, famww o o w1 40 2:3:59

yua d &) af o9 dm A F
15%, 10% 3R 20% # &= gfE &
sl @ o 8, o) 999 WY AoE @
IO 1 E?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Q102 fFr=feftan & sewae § aa 1)

0.001%
(A) 1

(B) 0.001
(C) 0.0001
(D) 0.00001

Q103 A 3w B e fselt &m &) 6 fa=l #

R FHY G 8| A A s g€ am
@1 10 fa= % g e waen €, @ B 3@
W &M B e R #d qu & s
8?7

(A) 12189

B) 1383

(C) 143

) 15f=

Q104 AfAw v faftaa gft @ e wm

B1 4 km/h 3% 99 5197 B 5 kn/h B Y
A | ©e 24 frFe ¥ w o wE | |/
0 | B

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km




Q105 A man, a woman and a boy can complete a

job in 2, 3 and 6 days respectively. How
many boys must assist | man and | woman
to complete the job in half a day?

(A) 5

B) 6

() 7

(D) 10

Q106 The radii of two right circular cylinders A and

B are in the ratio 5 : 2 and their heights are in
the ratio 7 : 5. What is the ratio of the curved
surface areas of A and B?

(A) 2:7

(B) 7:2
) &35
(D) 5:2

Q107 Iftoday is Saturday, after 71 days, it will be:

(A) Monday
(B) Friday

(C) Saturday
(D) Sunday

Q108 Ina AABC,AB=6cmand AD isthe angle

hisectorof # A.IFBD:DC=3:2, then
AC will be equal to:

(A) lem

B) 1.5¢m

(C) 2¢em

(D) 4em

CEGSIDGLE

37

QH}S U& @A), UH NG 3R S ds@ fed

M B A 2,3 3R 6 &A1 7 gu aw
Wl 8| v B o R A @waE @
fére 1 aneht sl | Aften & e @
fog fvem el & wermar afRe?
(A) §

(B) 6

() 7

(D) 10

Q106 &Y &% Fira ¥ (right circular cylinders)

A3l B# Bear 5:29 ue § siv
e Fangdl 7: 59 U J ) AR
B® a% Yo 3 &F%a! (curved surface
areas) H1 JTIRT T DY |

(A) 2:7

B) 7:2

) dss

(D) 5:2

Q107 afg ara wFar &, o1 71 = & g, &=

SEIC

(A) Hmar
(B) gmar
(C) ufar
(D) fdar

Q108 AABCH AB=6cm 3R 2 AT &

WAfETI® (angle bisector) AD & | af
BD:DC=3:2% @ AC @& WF &1
BYT?

(A) lcm

(B) 1.5¢cm

(C) 2em

(D) 4em
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Q109

QL10

Q11

Q112

LM-E

If x* +iz =23, and x > 0, then the value
X

1
of x+—is;
x

(A) 1
(B) 2
© 5
D) 6

Solve the following.

(cos’ @—1)cot’ O+ 1)+1=7
(A) -1

B) 0

©) 1

(D) 2

If*t" is the standard deviation of a, band ¢,
then the standard deviationofa +6,b+ 6
and ¢ + 6 will be:

(A) t

(B) t+6

(C) atb+c¢

(D) 6t

If @ and S are the roots of
ax’ + bx + ¢=0, then one of the quadratic

. e gl
equations whose roots are 7 and g will

be:

(A) a + bx+c=0
B) b +ax+c=0
C) ex’ +ax+ b=0
D) e +bx+a=0

38

S| . 1
Q109 afe I“*F:.'.’l M x>08 @ x+—&0
X

QI

Q112

qE @ 8m?
(A) 1
(B) 2
©€) 5
D) 6

frifefaa & e &)
(cos’ @—fcot’ @+ 1) +1=7
(A) -1

B) 0

© 1

D) 2

afe a, b3l c & aF@ fAaes v & &
a+6,b+630 c+6® wHE Aaas &
BIIT?

(A) t

(B) t+6

(C) a+b+c

D) 6t

IRl +bx+c=0F A a MR g 2
ol gfaem wiewi 3 9 1@ e @
| |
Py
BIIT?

(A) ad +bx+c=0
B) bx' +ax+¢c=0
(C) ex?+ax+b=0
D) ex’ +bx+a=0

2, Frafafaa 4 & &9 @

SERIES-E-B




Q113 Let @ be a prime and b be a composite
number such that @ + b= 240.Also, the
LCM of @ and b is 4199. Then a and b
respectively are:
(A) 23,217
(B) 17,233
(C) 19,22]
(D) 13,227

Q114 Outofthe following numbers, aterminating
decimal is:

wd | et

(A)

3|

(B)

(€)

(D)

Wik | =

Q115 Tap A can fill a tank in 18 minutes, B in 36
minutes and C in 54 minutes. Tap A was
opened; | minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to fill
the tank was:

(A) 9
®) 11
©) 6
(D) 8

Q116 The ratio of present ages of Reemu and Alka
i5 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10
(B) 8:5
(C) 7:5
D) 9:5

LM-E

Ql13

Q114

ZOBB0L AT

Q115

Q116

39

A o aUF 3oy GEn § 3R b Us
WA B U OE Pl a+ h=240%
AR B | §HD JAT a IR b T AW
T ® 4199 % | A1 @ 3w b &1 wEw
HA I @Y |
(A) 23,217
(B) 17,233
(C) 19,221
(D) 13,227

F=feiften veelt % 9, win Tywea
I W R?

(A)
(B)
(€)

(D)

Wpd B = =3 d =3|w

T A [0 23 =1 18 fse o w wam
B, BER 36 fiFe 9 3w C, 54 fvre
@ | 9 A @en T 96 | e
a1e, d B G T4n; 3R 999 4 e
qE, 1 C €A T | TH B R D
fere smavas wwa (Fee #) fsasn am?
(A) 9
(B) 11
(C) 6
(D) 8

W Al areieT Y TEAA AT T AU
3:2%) 20 wga, Frfaftea # 9
W I WY B AU e wdar
&7
(A) 17:10
B) 8:5
(©) 7:5
D) 9:5
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Qu17

Q118

Ql19

Q120

Ram is twice as good a workman as Rahim.
Ram takes 6 days to complete the work.
Rahim will complete the same work in:

(A) 6

(B) 3

(C) 12

D) 9

2 3 . F
If smaf-cnscx:g, then sinacosa is

equal to:
L2
25
16
25
&
25
4
16

(A)
(B)

©)

(D)

When the number ¢ is increased by 20%
and then reduced by 20, we get 160. Ifthe
number e is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

1
(D) 335%

40

CEAROHE

Q117 ¥M @ FrdeEwan W @ sEE 9

AT 81 YW R wrd @ 6 fRm A qm
wean &) wm ol ard &) s e 9
T FM?

(A) 6

B) 3

(C) 12

D) 9

Q118 afg sina—cnsrz::-& M sinacosa

& "E T Em?
:
25
16
25
=
25
:]
16

(A)

(B)

©

D)

Q119 v v der a ¥ 20% gfe &t & i

ftse 7w 20 79 & ot &, o & 160 T
Brar 81 af¥ d@ema i 20% 0 B 2
AR 209 gfE Bkh B o o @ owa
BITT?

(A) 144

(B) 140

(C) 152

(D) 148

Q120 5 m uer 494 & gwE, afola am 9

DU B 2m B Y Y B A B B
Ffota v wfverr smer a¥ )

(A) 40%

(B) 30%

(©) 45%

|
(D) 335%
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Q121

Q122

Q123

Q124

Q125

What is the name of the reserach station set

up by India in Antarctica in the year 20157 i

(A) Dhruva
(B) Hind

(C) Sagarika
(D) Bharati

Which of the following institutes was the first

to be established as IIT (Indian Institute of

Technology)?

(A) T Kanpur
(B) IIT Bombay
(C) UT Kharagpur
(D) IIT Madras

How many years of orbiting Mars planet were
completed in September 2018 by the Mars
Orbiter Mission launched by ISRO?

(A) 4vyears

(B) 5years

(C) 6years

(D) 7years

In the water cycle, clouds are formed by the
process of:

(A) evaporation

(B) condensation

(C) decomposition

(D) mehing

Which of the following is a sign of deficiency
of vitamin C?

(A) Bleeding gums

(B) Protruding belly

(C) Nightblindness

(D) Stomach ache

LM-E
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0121

Q122

Q123

Q124

Q125

a4 2015 § ¥R gaRT Jic@miedn #§ wfta
I A B AW 82

(A) 54

(B) fa=

(C) wriRa

(D) el

Freiferftas 4 9 e Swrs &) e 17
(wdira heaffiat wwerm) & & 3 wnfue
far Tar ar?

(A) NIT®=gx

(B) UT @

(C) UT @STPR

(D) UT 5=

U9 (ISRO) gamr weifda o1d aiffdey
e & weas o faday 2018 o wa
oE @ qftemar e et § gf o rd?
(A) 4ad
(B) 5ad
(C) 6ad
(D) 7ad

W 9% #, qIgel o 1o fefefan §
¥ frw uftven <amr g 27

(A) arsfiaver

(B) o=

(C) 3vee

(D) TS

Freifaftaa & & @59 o fefim c
&l @ ey 87

(A) w4el § @7 e

(B) UT WET AT

(C) wirEh

(D) Y ¥ 2
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Q126

Q127

Q128

Q129

SECTION-4| GENERAL HINDI | 25 QUESTIONS

fF=fafea 4 @ fvwd sirfa Prgfe
gftdl @t Wl awr vegfy sz
T 9 T &7

(A) 9=

(B) R

(C) ¥ famfia

(D) FEfeY Ry

frefafea 4 | R i e
R W sy Wt woret § wefi
wen fam, s, sfer v Frgfl
1 gaT @ yHn § g &7

(A) TEafaa amdy

(B) e

(C) =muA

() Ru=

Frafafaa 3 & @ wr wyee v T
87

(A) ¢

®) ¢

€ &

(D) 3

fFrefofee # & @9 ool §a Y &7
(A) @
B) =
) =
(D) 3

301 (CRBO0

Q130

Q131

Q132

Q133

Q134

a4 fa suwd @ wanr gan &2
(A) ¥
(B) w1
(C) #
D) 9

Frfeifaa #% @ frw o o afia veaa
&1 W garr &7

(A) =fis

B) fga

(C) &=i

(D) s

DI A 9 TeEy e 87
(A) Tred
(B) wryToT

(C) g
D) fres

A H dga B9 T Em?
(A) w
®) 3R
(C) T
D)

g foran gan g’ @ fog Suge @
e T B

(A) &

(B) Tw&

(C) Twfue

(D) <t




Q135 A # e fs wenm ter et Qu40 fymfofem # gg amw #5927

BT 81 — Ofta v 9 Reo wie (A) ¥ sy gef= & aman €
AR | (B) 39 91 & T4 A 5l 3 Hom
(A) AP w7 BN

B) 51 (C) # 3o+ I & WP § oy
(C) fmm R §

(D) 3T (D) U T AR SR e A el # |

Q36 T fmgu g W' —am A Ql4l &+ <7, fave Maw, wie 9o anfR

HayaES e B | &7 TE-gf & 99 e m-fe &
(A) FTB wanT faar me?
B) far (A)
C) T ®) -
(D) @& (C) :
D) ;
Q137 forw wg :1 =+ g 87
A) 7= Q142 R fRy gem@y ik o7 aef & WIS #
®) Wi _ A U wigT e @, W g |
(C) wafd ’ (A) g &=Y @er BT = WA g
(D) T 3 ®) 3 7 o T = N I
T JW T A S
QI38 M @ aF || — 5w &1 o1 SgER (C) e S = ffera =1 &
27 / (D) THHIF TE USAT = Tod & HPHe
(A) Wife aeir oSl
(B) e o
(C) wfemr wfa= Q143 ‘'3if@ T 3T AW TETHE — WP
(D) s wfds &1 w8 aef g |
(A) O & HTHY AH BT
Q139 fr=fafas #§ & #9 w1 Wgarea & B) T & favg ™ &
ITERT §7 (C) 7d &
(A) 5w 9| D) &t # g g1 forar @i
(B) g&® Ug WRAl &/

(C) @ @y wrar §1
(D) &9 F FAT TEl AT
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Q144

Q145

Q146

Q147

LM-E

TOER 3N YA & B 6 g a6
el &7

(A) et — wrafa we

(B) e — framaa

(C) IR — IS

(D) #zH — foramae

we o iR RRY AR gofa
o 87

(A) s gof fie

@B) waur T A

(C) =iveig sRwds

(D) s &g

af 2016 &1 WifRw @ QR
YEBR & R mar?

(A) Tgen

(B) wrE® WIE

(C) wmeww

(D) ferr Tl

g & o =) ofie faft daed
Bl | g% WRaig wfaae @ 6w s
# formn o &2

(A) 343

(B) 344

(C) 345

(D) 347

fFrafafaa gain &1 @ alw vl
(we wen 148 - 150) & 9wR €|

Wit & "eEl 3 gREEdl B
T Jeda HEEyYl B | g qawT Wit

BEG3IB00

£

i

44

& e #t v, gfe stk afgfe e
2| qweEa wam @ 3w &
Wrn—arerar TaE & g F 9w W
e T B e st ik
W e & | gy AN B g B
% aw 7 &) faf & anfesr @ ama
T @R e el @1 HIE aa W@
#) ugdl qae, Rgurea v Juey
7 EUEl @ uHE WF B o) 9
afRem, Rgawrl @ agd foh
e A BKY 9 | RO & HdeR
A O qRIS! B WIS S DA T
e W 4 9 | oEd HER
Rerfer & grasrera | el wafea e
2, 9o & At @h-ah we g
oY T # e wrr el o | R @
qeIBIed WA W # e arEl e
@ 9| WEEEE ¥ e wwel @
aia o o) Rafy ) 99 erw
R g Re 2w @ ge-d-ge
fagarrh &@ gt @ wRa s
T 4|

Iuda g &1 Sfta Miés w0 o8
Hepenn &7

(A) WrEF & B RSy

(B) g&i@IcTy BT gRIE

(C) T T HIE

D) gErrEd AR Hwa
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Q149 vt A Y@ifda 3w & sfom amen
71 87
(A) wiftcy & s=1fY & e afs
HEYY WEA YRaTaa # |
l (B) JHi@Ied WRa & winfe & wwo
& §| 39 qrasadt @ SRy 9,
B Wi ggy fem 2wt @
gs-a-gs fgaroh a@ g
’ FHVD I W B 4 | A AN P
afra-Tva @ s #)
(C) ¥INa & YeIsTad HUR " 7 g
a1 v o
(D) Hevide & anfawsr ¥ qd et
B HUF HEAT ATAGSA B TS
HYA AT A | HIRE A HHR B
| qEIHl @ WUE &1 wEe fran )

Q150 wfgw & w=ify &1 wad aifdvas wewyot
A a4 8?
(A) darey
(B) Uiy
(C) JxIwa
’ (D) Hevmeg

LM-E 45
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ROUGH WORK /7% & & fam
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Read the following Instructions carefully :

Fresfafaa Fdal & a= 4 9 -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheel. The answer once marked is not lizhle
to be changed

2, The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
elsc except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided,

4. The candidates will write the correct Test Booklet
Series ns given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6, Nocandidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

7. The candidates should not leave the Examination Hall
withoul handing over their Answer Sheel to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10, After Examination is over, candidate has (o return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidaie’s copy to candidate, then only
candidate is allowed 1o leave the examination hall.
Candidate is only allowed to take Candidae’s copy of
answer sheel.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the cxam.

s DDELYSEZ &

10, 998 & Fuvie anerell SR uSE e S

1. uflEn & Suvia el &t o

 yem g @ fore e o ar Reet § @

A C IS e A T T L I s e
Hacl U Tiel B B [ TWE FA T uige
U4 § 94| U g I s e oF &
a1 I qgdl A8 o waar §

qéteell gRftaa &Y $ I u=mE B e
WY U9 99 U¥ B8 39 Frems s ol
et S aEiE ST A A Rl
W o sfaften sma= = fomd

e gRaE U4 IR UFE @

wam @, Faifd e ) oftftafy § @aa
qlE qRaer § @ B B8 ) T e
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